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Grünfläche

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

Weißdornhecke

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

Grünfläche

Grünfläche

Hecke

unbefestigt

Grünfläche

Grünfläche

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

Grünfläche

Grünfläche

Grünfläche

Grünfläche

Mauer=

0,10

(Laubbäume auf

Flurstück 422)

Parkfläche

Verbundsteinpflaster

Umriss Baumkronen

(Laubbäume auf

Flurstück 422)

P

a

r

k

p

l

a

t

z

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

2

 

S

t

e

l

l

p

l

ä

t

z

e

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

Parkfläche

Verbundsteinpflaster

V

e

r

k

e

h

r

s

b

e

r

u

h

i

g

u

n

g

V

e

r

b

u

n

d

s

t

e

i

n

p

f

l

a

s

t

e

r

Verkehrsberuhigung

Verbundsteinpflaster

Verkehrsberuhigung

Verbundsteinpflaster

Mauer=

0,10

Flur 50

Flur 6

(1
23

,45
)

(50,98)
(115,59)

(8,49)

(31,84)

(20,19)

(1
29

,56
)

(22,60)

(40,45)

(10,52)

(2
0,5

6)

(10
,28

)

(14
,28

)

(17
,28

)

(15,83)

(16
,51

)

(46,67)

(2
4,4

3)

(1,
04

)

-(1
5,9

2)-

LPB II LPB I

LPB II LPB I


